2005 2004
TR S

TEF RS () 1,529.6 4,416.1
=HEFEL 74.9 120.9
=R AL (87.8) (153.2)
Rk zé? RV IREL 914.6 511.3
Sy B IR RL 36.5 38.4
S A AL (106.6) (75.9)
“i[rl‘f(“' )3 9 B 0.2 (169.0)
FE VROV E R g 23614 4,688.6
e 7R BAEESS (189.0) (197.1)
R RS A (410.2) (6.0)
LI TS S B T 95 -
L"Q l:‘7 E@; F’?@%@T‘E 322.7 261.7
Ll'f [l e vk B R TR 6.9 10.7
Vi M(*E? LRI 125.7 (111.2)
Il D R %ﬂaﬁ (328.9) (1,738.5)
e W%‘:&: %“ - (7.8)

FEEY SRV & i R e (463.3) (1,788.2)
Ry
QFE?VWW |f, # 6,119.2 3,005.3
rsnﬁim‘ﬂmﬁﬁ (4,498.1) (5,294.3)
HEAEIEL R (1,760.0) (1,607.4)
o P AR EL (182.9) (152.4)
= Léﬁ&m&ﬂ (121.1) (170.0)
Eﬂl?ﬁﬁéﬂﬁﬂﬁif» Wl e (442.9) (4,218.8)
2 W& = p/(iﬁ J/)iﬁia’ﬁ 1,455.2 (1,318.4)
FEPAE[— FIRVZR 2 w0 T8 i 2,017.2 3,182.7
Eéﬁr%;ﬁﬁm%%@ 29.7 152.9

ZE[ZH - FIpUE WIS S 3,502.1 2,017.2
F&WHE SR
HUS G R 3,502.1 2,017.2
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a) I‘Qﬁu‘ﬂ%’ﬁﬂf% e BT
2005 2004
i
B?%;’Emﬁ?ﬂj 5,699.6 3,373.7
T
B quaéﬁ,“ il FI R E (2,167.9) (2,047.3)
LS (74.6) (118.9)
FIELD Y 63.2 116.7
PR (403) (32.6)
P 1.9 3.0
%”Uﬁiﬁﬁﬁﬁﬁi[ﬂ' (2,237.9) (40.0)
B pha S VR : 414
L [gl qxs& A f JEJ ;;” (9_5) -
Hie? LTS NETFIEEE (89.3) (19.8)
uw%é?ﬁpjw%@rxb%u (111.2) -
HEA ﬁﬂff’“ . (8.6) (45.5)
e Eé[ [l ek PO (R F) 0.8 (1.4)
e 1l 55.1 51.2
FRETRL R IR R 2 1,081.3 1,280.5
TP 1 j;%ﬁ: Fglp NEE (2,999.3) (1,898.0)
TRk J/r EFL?@{ 1,453.0 5,269.4
i DRI 79.8 22.2
f&p%?%kwﬂib@ﬂ&ﬁzﬁ 31.9 1,263.8
BT D) e P g 2,046.2 (1,418.0)
ﬁ DR LK wgm E?«“‘Fl (163.3) (103.8)
TP P E 1,529.6 4,416.1
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